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720 788 886 | 1,020| 1,013 989 | 1,241 6,657

3,328 | 3,344 | 2,949| 3,5632| 3,329 2,300| 2,708 21,490

4,239 | 5,131 | 5,737| 5,210| 4,947 | 4,267 | 4,937 34,468

6,493 | 4,837| 4,899 | 5,960| 7,268 5,111 | 6,646 41,214

8,633 | 8,372 | 6,239| 6,909| 11,225| 6,706 | 7,241 55,325

2,200 2,780 2,895| 2,875| 4,067 | 2,601| 3,431 20,849

2,330 | 2,655 2,692| 2,954| 1,774| 1,890| 1,606 15,801

2,352 3,096 | 3,161| 2,435| 3,001 1,701| 2,096 17,842

1,126 | 2,404 2,312| 1,315| 3,641| 3,420, 3,056 17,274

6,590 | 6,762 | 6,453 | 6,322| 3,828 | 2,498 | 3,378 39,831

11,242 1,987 | 3,395| 13,789 | 4,252 | 2,820| 1,535 39,020

7,948 | 1,984 | 4,798| 4,169| 6,507 | 3,855| 3,935 33,196

57,201 | 44,040 | 46,416 | 56,490 | 54,852 | 38,158 | 41,810 | 338,967

16.9 13.0 13.7 16.7 16.2 11.2 12.3 100.0
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